

1700 S. Country Estates Raod Liberal, KS 67901 PH (620)-624-2277FAX (620) 624-2280

SERVICE ORDER - 1718 19684 L

Date: 8/31/2019
Location:
35-27S-33W
RRC #:
Customer's Order #:

Address: sublette.invoices@meritenergy.com AFE # 64247

As a consideration, the above named Customer agrees to pay Basic Energy Services In accord with the rates and terms stated in Basic Energy Services current price lists. Invoices are payable NET 30 (SEE 10.2) after date of invoice. Upon Customer's default in payment of Customers account by such date, Customer agrees to pay interest thereon after default at 18% per annum. In the event it becomes necessary to employ an attorney to enforce collection of said account, Customer agrees to pay all the collection costs and attorney fees. These terms and conditions shall be governed by the laws of the state where services are performed or equipment or materials are furnished.

Basic Energy Services, warrants only title to the products, supplies and materials and that the same are free from defects in workmanship. THERE ARE NO WARRANTIES, EXPRESS OR IMPLIED, MERCHANTABILITY, FITNESS FOR A PARTICULAR PURPOSE OR OTHERWISE WHICH EXTEND BEYOND THOSE STATED IN THE IMMEDIATELY PRECEDING SENTENCE. Basic Energy Services, liability and Customer's exclusive remedy in any cause of action (whether in contract, tort, product liability, breach of warranty or otherwise) arising out of the sale or use of any products, supplies, or materials upon their return to Basic Energy Services, servessly limited to the replacement of such products, supplies or materials or, at Basic Energy Services, services, option, to the allowance to the Customer of credit for the cost of such tiems. In no event shall Basic Energy Services be liable for special, indirect, punitive or consequential damages.

CODE	QTY	UOM	DESCRIPTION	PRICE	TOTAL
BC133	300	SK	Class C 50/50 Poz	23.50	7050.0
CC113	1512	LB	Gypsum	1.00	1512.0
CC111	1795	LB	Salt	0.50	897.5
CC102	76	LB	Celloflake	4.00	304.0
CC201	1500	LB	Gilsonite	1.00	1500.0
CC105	63	LB	C-41P	4.00	252.0
CC187	126	LB	C-17	24.00	3024.0
CF851	1	Ea	5 1/2" Float Shoe(Blue)	425.00	425.0
CF951	1	Ea	5 1/2" Float Collar(Blue)	420.00	420.0
CF1751	20	Ea	Centralizer, 5 1/2" (Blue)	80.00	1600.0
CF103	1	Ea	Top Rubber Cement Plug, 5 1/2"	105.00	105.0
CC151	500	GAL	Mud Flush	1.50	750.0
C718	26	Gal	Clayplex 650	35.00	910.0
ME102	120	MI	Heavy Equipment Mileage	8.00	960.0
CE240	300	SK	Blending & Mixing Service Charge	1.40	420.0
TM	756	MI	Ton Mileage	3.00	2268.0
CC6	1	HR	Depth Charge, 5001-6000'	2900.00	2900.0
CE504	1	EA	Plug Container Utilization Charge	250.00	250.0
ME101	60	MI	Light Vehicle Mileage	5.00	300.0
CE505	1	EA	Cement Densiometer, with chart recorder	350.00	350.0
BE143	1	EA	Supervisor	75.00	75.0
BE144	3	EA	Driver	35.00	105.0
				Book Total:	\$26,377.5
				Taxes:	
				Disc. Price:	\$12,753.6
			Additional 10% Discount as per Agreement on Cement Services	10% Disc	\$1,275.3
				Adjusted Price	\$11,478.2
PUMP TRUCK NU		7223 1957:	THIS JOB WAS SATISFACTORILY COMPLETED OPERATION OF EQUIPMENT WAS SATISFACTORY PERFORMANCE OF PERSONEL WAS SATISFACTORY	YES	NO
	ASIC ENERGY S	SERVICES	CUSTOMER OR HIS	GAGENT	

BASIC ENERGY SERVICES	OCCIONALITORY NO ENT			
Customer Comments or Concerns:				
C of 4				
Corey Black Sher				



Liberal Yard #1717 - Phone 620-624-2277 - 1700 S. Country Estates Road, Liberal KS 67901

					OUD LOG		PARTICIPATION NAMED AND ADDRESS OF THE PARTICIPATION OF THE PARTICIPATIO		-		
Customer:		Merit Energy			Cement Pump No.	37223 195	572 10HRS	Operator TRK No.:	788	68	
Address:	sublette.inv	oices@meriter	nergy	.com	Ticket #	1718 1	19684 L	Bulk TRK No.:	14354 19808 Corey 14354 19808		
City, State, Zip:	AFE # 6424	7			Јов Туре		Z-42 Cement Production Cas				
Service District:	1	718-Liberal KS	3		Well Type	Well Type: OIL					
Well Name and No.:	Name and No.: Wright # 35-3				Well Location	35-27S-33W	County	Haskell	State:	Kansas	
Туре	of Cmt	Sacks			Additives			Truck Loa	aded On		
Class C 50/50		300	6%0	Sypsum	,10%Salt,.5%C-17, Gilsonite,1/4#Cello		14354 19	9808 Corey	Front	Back	
							14354	4 19808	Front	Back	
									Front	Back	
Lead		Weight #1 Gal.		-t/sk		quirements	ments CU. FT. Man Hours / Persor			nnel	
Lea	200000000000000000000000000000000000000	13.6	1.	57	7.	18	471	TT Man Hours:	34		
Та	il:							# of Men on Job:	3		
Time		Volume		mps		sure(PSI)		Description of Oper	ation and Material	s	
(am/pm)	(BPM)	(BBLS)	Т	С	Tubing	Casing					
2:45am								Arrived at			
3:00am 6:45am								Spot Truck			
7:10am						2500		Safety m Pressure test lin			
7:12am	3	12				300		mp 12bbls of m	The same		
7:25am	3	13.9				zero	1	13.9bbls of cer			
								Il rat and mouse hole at 13.6lbs			
7:45am	5	69.9				350	Pump 69.9bbls of cement from 250sks at 13.6lbs				
8:07am							Shut down/Drop plug/Wash pump and lines to pit				
8:15am							Start displacement of 126.5bbls with H2O/4%KC				
8:20am	5	20				90	20bbls gone				
8:23am	5	40				120	40bbls gone				
8:27am	5	60				350		60bbls	gone		
8:31am	5	80				650		80bbls			
8:35am	5	100				1100		100bbls			
8:37am	5	126.5				2500	E	Bump plug/Hold	for 3 minutes		
8:40am			177				Relea	se pressure to	check if float h	olds	
8:41am							Pressure to	est casing for 1	5 minutes with	1600psi	
								Rig down/Job	completed		
							Thar	nked company		ew	
Size Hole	7 7/8	Depth			5509		TYPE		Float Collar		
Size & Wt. Csg.	5 1/2 17#	Depth	54		New / Used		Float Collar		Depth		
Landing psi	1000+	Depth					Retainer		Depth		
Shoe Joint	43.06	Туре					Perfs		CIBP		
	N= 3.1(Basic Represe	entative:	Vio	ctor A. Corona		
Customer Sig	nature:					Basic Signatur	·e:	//ufi	va la	an	
						Date of Service	e:	8/31/2019			
	The second secon	The same of the sa				The state of the s					

Pumping Order / Mixture

Client: Merit Energy

Well Name & No: Wright 35-3

Date: 8/31/2019

Location Supervisor: Victor A. Corona

Job: 5 1/2 Production

COMPANY REP. Rodney Gonzales

Differential Pressure

745 psi

Lift Pressure:

500 psi

Recipe

Pressure Test PSI: 2500

MAX PSI: 1500

12 BBLS OF MUD FLUSH SPACER

13 BBLS CEMENT R&M YIELD 1.57

13.6 LBS

50SKS 7.18G/SK

69 BBLS TAIL SLURRY YIEL 1.57

13.6 LBS

250SKS 7.18G/SK

DROP PLUG/WASH PUMP ON TO PIT

126.0 BBLS OF DISPLACEMENT

116.0 BBLS @ 5 BPM

10.0 BBLS AT 2-3 BPM TO BUMP PLUG

DISP PLUG WITH 126 BBLS OF H20/4%KCL

				Santio	e Point	Liber	al, Kan	sas		
Company		Merit Energy			ct Person		Davis		Ph#	620-388-3779
, 1	т т		D	Duke 9		County		askell	State	Kansas 33W
/ell Type		Contractor			Sec	1 25		Twp 27S		
ease		Wright	Well#	33-3	Sec	- 55	1 2491			
irections:										
Job Type		Production			Casing Size	5 1/2	Thre	8 Rnd	Weight	17
Job Type		Production			Tubing/Dril		There		Weight	17
		1 Pump Truck 1 Bulk	Truck		Hole Size		Pac	ker	Bridge Plug	
Equipment		11 ump 11 unt 12 m				7 7/8				
					Plug Conta		Sq	Jeeze Manifold	Field Bin	1/2
AFE#:						Yes				. I
Produc	tion: Use 5	50sksof tail cement	to plug	Rat & M	ouse; C	ement	Casing	g With 25	OU SKS; D	splace with 47
110000		K	L: Take	13 3/8 3	weage	IOI HEX	t well			
				CEME	NT DATA					
LEAD 1	Weight PPG	Турс			ADDREVES 43 43					
Sacks	Excess	Yield Pt³/sk	Water Gal/	sk						
TAIL 1	Weight PPG	Туре			Additives	emoum 1	no/ Salt	5% C-17. 1	/4# Defoam	er, 5# Gilsonite, 1/4
BC133	13.60	Class	C 50/50		Cello		070 5415	.570 0 2.7,		_
	15.00		Water Gal	sk .		3N=305				, r.
Sacks	Exects	Yield Frisk	Water Oak	7.18	1					

Sacks	Excess	Yield Ft*/sk	Water Gal/sk	
TAIL 1 BC133	Weight PPG	Type Class	s C 50/50	Additives 6% Gypsum, 10% Salt, .5% C-17, 1/4# Defoamer, 5# Gilsonite, 1/4# Celloflake
	Exxess 30%	Yield Pt/sk 1.57	Water Gal/sk 7.18	Υ .
LEAD 2 Weight PPG	Туре		Additives	
Sacks	Excess	Yield FP/sk	Water Galfak	
TAIL 2 Weight PPG	Weight PPG	ight PPG		Additives:
Sacks	Excess	Yseld F8/sk	Water Gal/sk	
Mouse/Rat	Weight PPG	Type 7 .		Additives
Sacks	Excess	Yield FP/sk	Water Gal/sk	
Plugs	Weight PPG	Турс		Additives
Sacks	Excess	Yield FP/sk	Water Gal/sk	

ks	Excess	Yield FP/sk	Weter Gal/sk				1.00
			Float Eq	uipment			
D-4#	Quanity	Descrip				# Used	# Returned
Part# CF851	Quarity	5 1/2" Float Shoe(Blue					
CF951	1	5 1/2" Float Collar(Blt	ie)				
CF1751	20	Centralizer, 5 1/2" (Bl	ie)				
CF103	1	Top Rubber Cement P.	lug, 5 1/2"				
		1					
WEEKE 100,000			36: C	hemicals			
				nemicais			
CC151	500	Mud F					
C718	26	Clayple	x 650				
					Date of	Job	
Ordered By	Luke Lau	Phone	972-628-1680	Fax	Time Re		
Cell Taken By	Max Ball		Email	Time ro			
Oncertor or					0 "	–	

Call Out Time

DATE

8-30-2019

COMPANY

Werd theat #35-3

DIRECTIONS

FRONT POT SO/SO/OZ

SOSO BACKS

SOSO BACKS

SOSO BACKS

SOSO BACKS

-lours to Load Truck